
𝑔(𝑥) =  
2𝑥2 + 𝑥

2𝑥3+3𝑥2 − 3𝑥 − 2
 

 

 

 

 

 

V.A. _____________________ 

H.A.______________________ 

S.A.______________________ 

 

 

 

Identify all key features then graph the function. 

𝑓(𝑥) =  
𝑥3−2𝑥2−5𝑥+6

2𝑥2+8𝑥−10
     

 

Factored Form: 

 

HA_______________ 

VA_______________ 

SA_______________ 

Hole(s)________________ 

 

x-intercept(s)______________ 

y-intercept(s)_______________ 

domain______________________ 

 

                                                   

 


